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There are 6 more red beanbags than yellow.

Challenge 2: Match the method to problem. Adult can help you with this.

There are 3 methods — bar model, cherry model (part whole) and ten frame.

Which method would you use to solve each problem?
4 Max has 12 N ( Max has |2 balloons. A Max has 12 blue balloons
balloons. 5 of the balloons are red. and 5 red balloons.
5 of the balloons There rest are blue. How many more blue
burst. How many blue balloons balloons than red
\How many are left? J U does Max have? J balloons does he have!
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